Question 16:

Find the inverse of each of the matrices, if it exists.

| 3 -2
-3 0 -5
2 5 0
Answer
I 3 -2
LetAd=|-3 0 -3
2 5 0
We know that A = JA
1 3 -2 I 0 0
=3 0 =5|=|0 ] 0|4
2 5 0 0 0 1
Applying R; — Rz + 3R; and R; — R; — 2R;, we have:
| 3 -2 I 0 0
0 9 -1l |=|3 ] 0|4
0 -1 4 -2 0 1

Applying R, = R, + 3R, and R. = R. + 8R,, we have:

| 0 ] -5 0 3
0 | 21 |=|-13 1 814
0 -1 4 -2 0 I
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Applving R, = R, + R, we have:

| 0 10 -5 0
0 1 21 |=|-13 1
0 0 25] |-15 1

ApplyvingR, — %R,.m: have:

10 10] |- o

0 1 21|=|-13 1

0 0 301
5 25

| 2
[ 0 0 3
3
01 0f=[-3 %
0 0 1 300
| 5 25
- , -
| — _E
5 5
aat=l-2 201
5 25 25
A L B
5 25 25

Question 17;

C =T L P

Ble = -

Find the inverse of each of the matrices, if it exists.
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L L ]
|

| 0
0 l 3
Answer
2 0 -
letd=|5 | 0
0 | 3
We know that A = [A
2 0 -1 I 0 0
o 1 0 |=|0 1 0A
0 1 3 0 0 1
R, = =R,
Applying 2 , we have:
Lo L [L o o
2 2
5 1 0 |=(0 1 0fA
1 3 0 0 |

Applying R, = R, =5R, we have:

| 0 1 L 0 0
2 2
q
0 | 3 =|l=-= 1 0|4
2 2
0 1 3 0 0 |
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Applying R, = R, -R,, we have:

T B I L
2 2
U S
2 2
0 0 L c) -1
2 ] 12
Applying R, = 2R |, we have:
| 0 ...l L) 0
2 2
5 5
0 | *:.'-' = -"2' |
0 0 | 5 =2

| 0 0] [3 -1
0 | Ni=|-15 6
0 0 1| |5 -2
3 -1 1
A'=|-15 6 -5
5 -2 2
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